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Part A

Answer any ten questions.

Each question carries 2 marks.

1. LetU={x:xis ainteger, -4 < x <4} be the universal set. A={x:xisainteger,0< x< 3
}and B = ( {x:xis a integer, -3 < x < 1} are the subset of U. Write A and B in roster
form.

2. A={3456,7 B={3,3,4,5,6,6,7}
IsA=B?

3. Define natural numbers. Also write the set of Natural numbers.

4. Define prime and composite numbers.

5. If0.75: x :: 5:8, then x is equal to?

6. Two numbers are in the ratio 3 : 4. If the sum of numbers is 63, find the numbers.

7. Find the value of x if log 10 x = V2.

8. Find
a_) log; 81
b_) log, 1
9.

3 5 2 4
4 2 1 3
1 6l p=ls 0

Add the following matrices, A=
10. What is Row matrix?

11.

Find out the determinant of the matrix X, X=

st vage s Turn v



&t

12.

Find the product of the matrices, A= 10 1 8] 2 5 1
(10x2=20)
Part B
Answer any six questions.

Each question carries 5 marks.

13. LetA={1,2,{3,4}, 5} Which of the following statements are incorrect and why?
(i) {3,4}cA (i) {3,4} €A (i) {{3, 4}} c A
(iv)y1 €A

14. IfSetU={1,2,3,4,5,6,7},SetA={1, 2, 3}, SetB={3, 4, 5} and
Set C = {4, 5, 7} then find
(HYA'"N(BuUC)

15. Evaluate

1. 1f 3A = 4B = 6C; find A: B:C.
2. 1f2A=3B and 4B =5C, Find A: B

16. Find the value of x in the following proportions:

1.10:35 =x: 42
2.3:x=24:2
3.25:1.5=x3
4.x:50::3:2

17. A mixture contains alcohol and water in the ratio 4: 3. If 5 litres of water is added to the
mixture, the ratio becomes 4:5. Find the quantity of alcohol in the given mixture.

18. 6 3 5 6 3 5
1 0 1 1 0 1
let A= L2 2 T7lg=12 2 7lproye that 2a=28.

[3 4 [5 5
Find out the transpose of the following matrices, A= 5 2 B= 18 0l c=

6 3l [i ol

20. 7 1 4

19.

Let, P= L 0 6] and Q=l5 4 21 Find 3P-2Q.
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21. [5 0]
LetA=L2 —21 Prove that, Adjoint of matrix A, is the transpose of the cofactor matrix of
A.
(6x5=30)
Part C
Answer any two questions.
Each question carries 15 marks.
22. 1fU={24,6,8,10,12,14,16,18,20,22,24}, A={ 8,16,24} and B = { 8,10,12,14,16} .
a.) Write AX B
b.) Write P(A) .
c.) Find (A"
d.) Verify that
i) (AUB)'=A'NB'
(i)(ANB)'=A"UB'
e.) (B-A)
23. [1 4 5] [1 4 5]
7 3 8 7 3 8
Find the inverse of the following matrices, A=L2 0 61 B=L2 0 6l
24. [1 4 5] [4 4 5
7 3 8 0 4 9
Find the inverse of the following matrices, A=l2 0 61 B=l3 5 6
25. Solve completely the following equations using matrices:
1x+9y+3z=4
3y+6y-3z=6
6x-8y-4z=11
(2x15=30)
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